TEXAS A&M UNIVERSITY
"‘FW Math Learning Center

Math 140 - Spring 2024
WEEK-IN-REVIEW

MATH 140: WEEK-IN-REVIEW 7 (REVIEW OF ALGEBRA & CHAPTER 5.1)

1. Evaluate each of the following and simplify completely.

(a)i§ = (3)(y)= 12

30 30

iy 3 =25

30 30
= 1~5\n lowes
b

ferms
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2. Evaluate each of the following and simplify completely.
(@) 5= 2 = 2= |8

() V-81 Does not exist a5 o fead Nuwber

¥ Domaoain oj- g(zx.)-& (s [.°J°°> *
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3. Simplify the following using the order of operations '—P EMDAS > order a% ar e metie \

(a) 2(3+5-4) — 6 Pperotions
= 2(%>+20)- b P Pas entheses (blockets)
= 2-23 -3¢ E> QX-POV\QV\'Q C‘PD(UQrS)
= 40-35= o M - muplicahon
b) 4% —15+ (8 - 3) D > diwglon
= 1b-1%=9% A > additown
= 1b-3 S >  subtrachon,
= 1% —~

(c) (x—y)>whenz =5and y =7

(5-%) = (-2) = [4

4. Simplify each of the following expressions

(a) 2a* +4a+ 8+ 6a® + 5a — 4

— —

= (2+6)a + (4+9)a + (3-4)

1|

2
%Q+QQ+4

(b) (20)2(42) x): 7 %= e

(!

2
(4% )(4%)
= () () "o X
= o x

3 e+3
(©) (;w) (BF) = 2b
)
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Expand and simplify each of the following expressions

(d) 4s3(s2 — 25+ 3) = L\.s"‘. o - q.ss' 254 4_53. 3

5 [ 3
= |45 -8s+ 129

(e) 2y+3)(y+5) = 21& («3*534- K) ('31\-5)
- 2L
= 1«31—\03; 3%«—\5
- 2
T2yt By 15

f) Rz +4) (2> +2—-1) = Zx(oc_z-)-x—\)-\— 1_\.(98'-\-7(—6
- 3 2 2
= 224 2% 2% ¥ b FYR-4

—

I P T N
= 2x+e>«+zx—4

(g) (442z)(4—3z) = Lr(Lr-'bx)*’?-x (+-3%)
= b -1Lx + dx - b

= |- exz_q_xﬁ—l!o

() 22 —-3 2—u .____(1)(’3).[—(_%/)_{) _ - (2x-3)
(x>Z) - (% +1) X

r—2 x+1
= - 2x+3
X+ |
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5. Factor each of the following expressions

(a) 52° — 1022 w152 % common fachv : Hx

_c 2

2O (-2%-3) 5 Rl o ad b osach thot abe-3 and otk - -2
LANNNAN NANANNANAN

\52. (x- 3)(x+\jj 0=-3 ' b=|

(b) w? — 8w +15 * ‘F\h&a & and b such that a\o= \S and ath = -

-3 e

(c) r2 —4r —12

* -de a and b Suda that ab = - 12 and W

\NANNN~

2 _ .,
@ 67 -y-15 £0d o omd b such that ab m@&i%\ -30 awmd
-t

= by er_@ atb = Sl s Hen pr%’“‘"‘

o= -—-\O =
=3y (24+3)-5 (2% 3)
=|(1£+3)(3;, -5)|

96p? — 76
(e) 96p D M %Yec«’te\vc Comman diweSoy b? A6 and FL s L{-

= E{LQ_F— Mﬂ

) 6¢%+3

Cher]

\r(e&uu\o\z - connot b-& ‘r—qd'oreé '(214

Haer
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6. Express each of the following using interval notation

@ g " (-10,-1]ulo,20)
—10 —1 0 20
7 S ¢ (-00)-?)\)(,’2—) )V(q-‘m)
(b) —00 | 1 I 2o
=7 -2 4

7. For each of the following, draw a number line representing the given information, and then write
the equivalent statement using interval notation.

a X X —2 ‘?.:
@ {zl2<-3] (- %)
< —0
. i
< v ”
-2
5
(b) {z| = < -3 fnd)z > 15} s
gersachov\/ou a«\aé
<——» \m —>
< | ‘ 7
1n‘l'EQ CC"IDV) /QWV‘
(c) {z| z> 75.x<10.x5£4} -
< 7
— Lo S (_—?5)4.)\)(4-,\0:\
O 7/ L S
< -35 3 10

@) {z| z<-1Q)z >3} (_oo)_\]UC3100>

wnion c.ow\\mfne

& —0 O— —>
S _l — -2
‘ 3
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8. State the inputs and outputs of the given relations.
(a) Ry ={(5,—12),(—4,3),(~10,3), (12,12)}
puts = 5_—\0,"14—,5) ll?] in OLS(.evvd\'vxa o«der
oukputs = §-12,3,12%
(b) Ry = {(—20,45), (45, —20), (15, —15), (45,17)}
\'\Pu(:s { 2_0 \5 q_G}

outputs = §-20,-15, 1%, 457
9. Determine if the given relation is a function. If it is a function, state the domain and range of the
f ion. SiA - -
unction . DO'MO\W) - SL ]0) 4—) 5) \2.3
(8) Ry ={(5,-12),(~4,3),(-10,3),(12,12)} funehon -
. . d Range ; {-'W_JB l2.3
¥ each input S mMoppe Yo one out Put )

Domeygy  (b) 6z +7y=42  Sunchon

(-00,) ¥ groph of a skuight Line in Standard %rm, A\l 5‘““‘3“" ires,
e % Cept for ver¥cal Shvses, °‘83 ¥ Verhcal Line Test,

Runge (c)
(- “’)m> 1 .
1 q 10 9 A
A > A A A funchon :
/
) //// J Posse.s
«0/ B SN ¥ Y
< very cof
1 5 ; 10[j —1 5 | 196 "QA'AQ
, ¥ cRat
% § \
~ 1 d/ 16 |
y . Y
ot a funchon Domain: (-,2) U (2,®)
¥ Lails Hie verkeal Ronge : oo
Line task dange s (-@,3)y (3,%)
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10. Use the graph of f(z) below to answer each of the following.

—

—
L ——
—

—

[RE

Y

(a) f(—4) DNE since X = -4 is not (n Ha domain

() Determine all values of « such that f(z) =4 -5,3.% J b
(f) Determine all values of z such that f(z) = -8  Q

(g) Determine all values of x such that f(z) = —9 -3

(1) State the domain of f(r). (=90 -5] U [_“3 ) °°>

(i) State the range of f(x). {.Jis ¥ [-.._ ? ) 00)
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11. Given the function g(x) = 4 — 3z, determine each of the following. Simplify your solutions as much
as possible.

(a) g(6)
96y = 4~ 3(6)
= )_\_. -\8
= |- |)+
(b) g(2s)

Y29 = &7 3(28)= 4763

(©) gl —5)

%(x-:a\: 4 -3(x-5)
= 4-3xt15
=119 -3x

(d) g(z) —g(4)

40 -qW) = (4~ 3x) - (4~ 3(4))
= CIX— LTI
= "3x+)12
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12. Given the function f(z) = 3z — 2z, determine each of the following. Simplify your solutions as
much as possible.

(a) F(-2)
y
£(-2)= 3(2)-2(-2)

= Aty
=1 1b

(b) f(o+h)
2
$oeth) = 3(x+h)- 2(x+h)

= 3 (xq'—\-zx\q-\-h?') -2x-2W
Z 2 oxhd = 2% - 2h

(¢) fx+h)— f(z)
f(x-\-\n)—j'.(w) = (}&2-\- bxh + 3M2— ?Zf' 2“"3 - (3&2" 2X)

= loxh+ 3 21
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